(A 4

= Phép chia Da thtic
Tén: Ngay thang: Piém:

1222 — 44x— 16 28x% + 67x + 40

2x— 8 dx+ 5
72x2 + 23x — 35 3002 — 34x— 36

8x+ 7 6x+ 4
1223 + 52 —x— 36 18x° + 62 — 6x

3x—4 3x

43 + 332 +52x— 12
x+6

27x3 — 27x% + 6x
3x

20x3 + 1622 — 24x— 12

4x— 4
5x2 — 38x— 63
x—9
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5090 ®

Phép chia Da thirc
Tén: Ngay thang: Diém:

12x* — 44x— 16 28x% + 67x + 40
2x— 8 dx+ 5

6x+ 2 Tx+ 8

72x2 + 23x — 35 3002 — 34x— 36
8x+ 7 6x+ 4

9%—5 5x—9

123 + 52 —x— 36 18x° + 6% — 6x

3x—4 3x
A+ Tx+9 6x> + 2x—2

43 + 332 +52x— 12
x+6
4> +9x—2

27x° — 27 + 6x

3x
Ox* — Ox + 2

20x3 + 1622 — 24x— 12

4x— 4
5¢% + 9x + 3

5x2 — 38x— 63

5x+ 7
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